October 30, 2017
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LEARNING TARGET:

“I can identify a relation as linear, quadratic or exponential,
if I am given a table, equation or graph.
I can complete any table of values.”

Cycle 1 Day 2 (Fall 2017)-f17b

Recall: relation, first difference, second difference, y-ratio,

linear relation, non-linear relation
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As a class, summarize the properties:
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(Non-Linear Relation #2)
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Cycle 1 Day 2 MBF 3CI CHAPTERS 4, 5, 7: RELATIONS

PRACTICE
1. Classify as linear, quadratic, exponential, or “unkmown™ EXPLAIN.
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2. A cannonball is shot horizontally from the top of a cliff. Its vertical height above ground versus

time elapsed is h=150— 4.9t where / is the cannonball’s vertical height above ground
(metres) and 7 is the time (seconds).

a) Classify the relationship between height of the cannonball and time.
b) Complete the table of values:

Time Height
0

¢) Graph this relation:

SHORT ANSWERS:

1. Are you explaining your choice?

a) quadratic b) exponential c) linear
d) quadratic ¢) exponential f) exponential
g) exponential h) quadratic

2. a) Quadratic

b) The respective height values are: 150 m, 145.1m, 1304 m, 1059 m.

Go back to the Leaming Target ©.
Can you confidently say that you have met today’s goal?
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